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Section : Part-A-General Intelligence and Reasoning

Q1 Which two numbers should be interchanged to make the given equation correct?

14%x4+6+5-8=3
Ans X 1. 8 and 4
X2 3and 5
X3 l4and 6
+ 4 3and 4

Question ID : 264330192282
Option 1 1D : 264330752482
Option 2 ID : 264330752483
Option 3 ID : 264330752484
Option 4 ID : 264330752485
Status : Answered
Chosen Option : 4

Q.2 Which of the following gronps of letters when sequentially placed from left to right will complete the given series?

abb_abbcabbeabbea_beabbea_be bbe

Ans 1. cbba
X 2. abed
X 3. cdba
X 4. aabb

Question ID : 264330187340
Option 11D : 264330733289
Option 2 ID : 264330733288
Option 3 ID : 264330733291
Option 4 ID : 264330733290
Status : Answered
Chosen Option : 1
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71, 2, 80, 85, 80, 04

Q.3 Which of the following numbers will replace the question mark (?) in the given series?

Ans 1. 74
X2 78
X3 79
4 76
Question ID : 264330192340
Option 11D : 264330752714
Option 2 ID : 264330752716
Option 3 ID : 264330752717
Option 4 ID : 264330752715
Status : Answered
Chosen Option : 4
Q4 1n the following question. select the missing number from the given series.
177, 145, 113, 81, 49, ?
Ans 3¢ 1. 2
X2 30
X3 24
4 17
Question ID : 264330190438
Option 1 ID : 264330745334
Option 2 ID : 264330745336
Option 3 ID : 264330745337
Option 4 ID : 264330745335
Status : Answered
Chosen Option : 4
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Q.5 Select the figure that will replace the question mark (?) in the following figure series.
Ans
L
oo
L
x> l 1
Qo
xs H
jelele
o 4. ll
Q00
Question ID : 264330191122
Option 1 ID : 264330747842
Option 2 ID : 264330747845
Option 3 ID : 264330747844
Option 4 ID : 264330747843
Status : Answered
Chosen Option : 4
Q.6 Five friends P, B, C, G and H are sitting around a circular table facing towards the centre. B is sitting to
the immediate left of C. G and H are not the immediate neighbour of C. H is sitting second to the right
of P. Who is sitting on the immediate right of G?
Ans « 1. H
X2 B
X3 C
X4 p
Question ID : 264330191536
Option 11D : 264330749498
Option 2 ID : 264330749499
Option 3 ID : 264330749501
Option 4 ID : 264330749500
Status : Answered
Chosen Option : 1
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Q.7 A series is given with one term missing. Seleet the correct alternative from the given ones that will complete the series.

NS, PK.HM, JE. ?

Ans ¢ 1. BM
X 2 BS
X3 BC
+ 4 BG
Question ID : 264330187419
Option 11D : 264330733607
Option 2 ID : 264330733606
Option 3 ID : 264330733604
Option 4 ID : 264330733605
Status : Answered
Chosen Option : 3
Q.8 Inthe following question. select the figure which can be placed at the sign of question mark (?) from the given
alternatives.
LR O
Ans
[
~< 1
X2
- 4
" 3.
[ ] F 1 2
Question ID : 264330187115
Option 11D : 264330732389
Option 2 ID : 264330732391
Option 3 ID : 264330732388
Option 4 ID : 264330732390
Status : Answered
Chosen Option : 3
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Q.9 By Interchanging the given two numbers which of the following equation will be not correct?
4and9
Ans X 1. 8+4x3-9=3]
2 4-9+8=15
X3 9x1-4+6=1
X4 9-4+3+1=2
Question ID : 264330187052
Option 1 ID : 264330732136
Option 2 ID : 264330732137
Option 3 ID : 264330732138
Option 4 ID : 264330732139
Status : Answered
Chosen Option : 2
Q.10 Eight teachers Tatin, Abhi, Gopal, Heena, Ishaa, Rohir, Kajal and Ieela are sitting around a circular table facing
opposite to the centre (not necessarily in the same order). Abhi is second to the left of Heena. Rohit is third to the right
of Heena. Gopal is second to the right of Jatin. Rohit is second to the left of Jatin. Kajal is third to the left of Ishaa. Who
s sitting 1o the immediate right of Gopal?
Ans X 1. Kajal
X 2. Abhi
+ 3. Heena
X 4. TJatin
Question ID : 264330187068
Option 1 ID : 264330732203
Option 2 ID : 264330732200
Option 3 ID : 264330732201
Option 4 ID : 264330732202
Status : Answered
Chosen Option : 3
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Ans

Q.11 Select the correct mirror image of the given figure when the mirror PQ is placed to the right side of the figure.

Question ID :

Option 1 ID

Option 3 ID

264330190725

: 264330746333
Option 21D :

264330746331

1264330746332
Option 4 ID :
Status :

Chosen Option :

264330746330
Answered
2

Ans

X 1. NVTPF
« 2. NPVTF
X 3. NPTVF
X 4 NPTFV

Q.12 Inacertain code language, if COMPUTER is coded as DPNQVUFS' and KEYBOARD is coded as 'LFZCPBSE, then
what will MOUSE be coded as?

Question ID :

Option 1 ID

Option 3 ID

Status

264330190712

1264330746281
Option 21D :

264330746279

1264330746278
Option 4 ID :

264330746280

: Answered
Chosen Option :

2
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Q.13

In the following question below are given some statements followed by some conclusions basad on those statements.

Taking the given statements to be true even if they seem to be at variance from commonly known acts. Read all the
conclusions and then decide which of the given conclusion logically follows the given statements,

Statements:

I No Brush iz Bed.

TI. Some Table are Brush.
Conclusions:

L Some Table are not Bed.

T All Bed are Table.

Ans X 1. Both conclusions I and II follows
X 2. Only conclusion II follows
X 3. Neither conclusion follows
« 4. Only conclusion I follows
Question ID : 264330190497
Option 11D : 264330745572
Option 2 ID : 264330745571
Option 3 ID : 264330745573
Option 4 ID : 264330745570
Status : Answered
Chosen Option : 4
Q.14 Inacertain cods language, “LOSS" is coded as *OSVW*, What is the cods for ‘MANY" in that code langnage?
Ans X 1. PFQC
X 2. PERC
« 3. PEQC
X 4. PEQD
Question ID : 264330190272
Option 11D : 264330744672
Option 2 ID : 264330744673
Option 3 ID : 264330744670
Option 4 ID : 264330744671
Status : Answered
Chosen Option : 3
Q.15 Select the option that is related to the fifth lerter cluster in the same way as the fourth letter cluster is related to the third
letter clister and the second letter cluster is related to the first letter cluster.
PIRATE : PEITRA :: SYSTEM : SMYEST :: PHYSIQUE : ?
Ans > 1. UEIQPHYS
X 2. YSPHUEIQ
« 3 PEHUYQSI
X 4. SYHPQIEU
Question ID : 264330192171
Option 1 1D : 264330752040
Option 2 ID : 264330752039
Option 3 ID : 264330752038
Option 4 ID : 264330752041
Status : Answered
Chosen Option : 3
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Q.16 Two positions of a dice are given below. What will come on the face opposite to the face containing *5" on it?

o

Ans X' 1. 2
X2 6
3 3
x4 1
Question ID : 264330191346
Option 1 1D : 264330748738
Option 2 ID : 264330748740
Option 3 ID : 264330748741
Option 4 ID : 264330748739
Status : Answered
Chosen Option : 3
Q.17 Which answer figure will complete the pattern in the question figure? (rotation is NOT allowed)
? S
/|m|m
Ans \
W 1. \
X2 \
X 3. \S
~ 4.
Question ID : 264330192347
Option 1 ID : 264330752742
Option 2 ID : 264330752745
Option 3 ID : 264330752744
Option 4 ID : 264330752743
Status : Answered
Chosen Option : 1
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Q.18 1n the following question, select the related letter pair from the given alternatives.

YL:XI::?
Ans X 1. FQ:AB
X2 EC:RI
X3 ZK:IT
« 4 EI:DF
Question ID : 264330190211
Option 1 ID : 264330744427
Option 2 ID : 264330744428
Option 3 ID : 264330744426
Option 4 ID : 264330744429
Status : Answered
Chosen Option : 4
Q.19 A Bmeans A is the brother of B, A — B means A is the father of B, A— B means A is the sister of B and A+ B means A
is the wife of B.
IfP=Q+=H+D-B+M, then how is (Q related to M?
Ans X 1. Father’s sister
+ 2. Father’s mother
X 3. Mother’s mother
X 4. Sister
Question ID : 264330187086
Option 1 ID : 264330732272
Option 2 ID : 264330732273
Option 3 ID : 264330732275
Option 4 ID : 264330732274
Status : Answered
Chosen Option : 3

Q.20

1. READ
2. RIDE

3. RINSE

4. REAL

5. RIGHT
Ans X 1. 1,3,2,5.4
2 14,253
X3 13245
X4 32,145

Arrange the given words in alphabetical order:

Question ID : 264330192070

Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

264330751637
264330751636
264330751635
264330751634
Answered

2

Section : Part-B-General Knowledge and General awareness
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Q1 Credit of invention of the Chess game goes to:

Ans 1 India

X 2. Tran
X 3. England
X 4. Japan
Question ID : 264330191784
Option 1 1D : 264330750492
Option 2 ID : 264330750490
Option 3 ID : 264330750491
Option 4 ID : 264330750493
Status : Answered
Chosen Option : 1
Q2 From which date, Indian Financial year begins?
Ans X 1. 3]st March
& 2. 1st March
3. Ist April
X 4. 1st January
Question ID : 264330191765
Option 11D ; 264330750416
Option 2 ID : 264330750415
Option 3 ID : 264330750417
Option 4 ID : 264330750414
Status : Answered
Chosen Option : 3
Q3 YWhat does "LBW" stand for in cricket?
Ans X 1. Last Ball Wicket
X 2. Long Boundary Wicket
X 3. Leg Break Wrist
« 4. Leg Before Wicket
Question ID : 264330190882
Option 11D : 264330746884
Option 2 ID : 264330746883
Option 3 ID : 264330746885
Option 4 ID : 264330746882
Status : Answered
Chosen Option : 4
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Q.4 Which Indian dancer won the Sangeet Natak Akademi Award for Manipuri Dance in 20187

Ans X 1. Gopika Varma
+ 2. Akham Lakshmi Devi
« 3. Surupa Sen
X 4. Dr. Aruna Mohanty
Question ID : 264330191259
Option 11D : 264330748392
Option 2 ID : 264330748393
Option 3 ID : 264330748390
Option 4 ID : 264330748391
Status : Answered
Chosen Option : 4
Q.5 Which of the following statement is “true’ for *dobereiner’s wiads'?
1. Triads were in order of atomic masses.
IL Atomic mass of middle element was roughly the average of atomic masses of other two elements.
Ans 1. BothIand II
X 2 OnlyI
X 3 OnlyII
X 4. Neither I nor I
Question ID : 264330191052
Option 11D : 264330747564
Option 2 ID : 264330747562
Option 3 ID : 264330747563
Option 4 ID : 264330747565
Status : Answered
Chosen Option : 1
Q.6 Most of Ashoka’s inscriptions were in language and were written in the script.
Ans 1. Prakrit, Brahmi
X 2. Pali, Kharosthi
X 3. Sanskrit, Kharosthi
X 4. Sanskrit, Brahmi
Question ID : 264330188860
Option 11D : 264330739242
Option 2 ID : 264330739244
Option 3 ID : 264330739243
Option 4 ID : 264330739245
Status : Answered
Chosen Option : 3
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Ans X 1. Banking

Q.7 Which of the following sectors is the most labour absorbing sector of the economy?

Chosen Option :

X 2. Industry
« 3. Agriculture
X 4. Service
Question ID : 264330192015
Option 1 ID : 264330751416
Option 2 ID : 264330751414
Option 3 ID : 264330751417
Option 4 ID : 264330751415
Status : Answered
Chosen Option : 2
@8 Which of the following is a dance form of Assam?
Ans v 1. Bihu
X 2. Garba
X 3. Ghoomar
X 4. Kathakali
Question ID : 264330191211
Option 1 ID : 264330748199
Option 2 ID : 264330748200
Option 3 ID : 264330748198
Option 4 ID : 264330748201
Status : Answered
Chosen Option : 1
Q.9  The period from the decline of the Mauryas to the rise of the Guptas (2nd century BCE 1o 3rd century CE) is known in
Indian history as the petiod.
Ans 1. Post — Mauryan
X 2. Pre — Mauryan
A 3. Pre-British
X 4. Industrialization
Question ID : 264330191857
Option 1 ID : 264330750783
Option 2 ID : 264330750782
Option 3 ID : 264330750784
Option 4 ID : 264330750785
Status : Answered

1
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Q10 11 which of the following states is the festival Vishu celebrated?

Chosen Option :

Ans X 1. West Bengal
X 2. Madhya Pradesh
+ 3. Kerala
X 4. Bihar
Question ID : 264330191932
Option 1 ID : 264330751084
Option 2 ID : 264330751085
Option 3 ID : 264330751082
Option 4 ID : 264330751083
Status : Answered
Chosen Option : 3
Q1 Which Five-Year Plan of India was known as the "Mahalanobis Plan"?
Ans X 1. Fourth Five-Year Plan
X 2. First Five-Year Plan
A 3. Third Five-Year Plan
+ 4 Second Five-Year Plan
Question ID : 264330191306
Option 1 ID : 264330748581
Option 2 ID : 264330748578
Option 3 ID : 264330748580
Option 4 ID : 264330748579
Status : Answered
Chosen Option : 1
Q.12 In Tuly 2023, who has been awarded the British Prime Minister’s Points of Light award for volunteering several
sustainability initiatives, including raising funds for children, since the age of three?
Ans X 1. Anoushka Jolly
X 2. Aadithya Suresh
+ 3. Moksha Roy
X 4. Hanaya Nisar
Question ID : 264330188813
Option 1 ID : 264330739056
Option 2 ID : 264330739054
Option 3 ID : 264330739055
Option 4 ID : 264330739057
Status : Answered

1
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Q13 What is the time period of the rolling plan during the five-year plan in India?

Ans 11978 —80
X2 197578
X 31968 - 70
X4.1971-73
Question ID : 264330191026
Option 11D : 264330747461
Option 2 ID : 264330747460
Option 3 ID : 264330747458
Option 4 ID : 264330747459
Status : Answered
Chosen Option : 1
Q14 Who won the ICC ODI World Cup 2011?
Ans X 1. England
X 2. Australia
+ 3. India
A 4. SriLanka
Question ID : 264330191982
Option 1 ID : 264330751282
Option 2 ID : 264330751283
Option 3 ID : 264330751284
Option 4 ID : 264330751285
Status : Answered
Chosen Option : 3
Q.15 Which of the following is NOT one of the fundamental rights mentioned in the Indian Constimtion?
Ans X 1. Right to constitutional remedies
X 2. Right to freedom of Religion
X 3. Right to equality
« 4. Right to exploitation
Question ID : 264330191740
Option 11D : 264330750316
Option 2 ID : 264330750315
Option 3 ID : 264330750314
Option 4 ID : 264330750317
Status : Answered
Chosen Option : 4
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Q.16 In January 2023. who has been appointed as the Director General in the Directorate of General of Civil Aviation
(DGCA)?

Ans X 1. Pramod Kumar Misra
" 2. Vikram Dev Dutt

X 3. Ajay Kumar Bhalla
X 4. Ajay Kumar Sood

Question ID : 264330191089
Option 11D : 264330747711
Option 2 ID : 264330747710
Option 3 ID : 264330747712
Option 4 ID : 264330747713
Status : Answered
Chosen Option : 3
Q.17 Union Finance Minister Nicmala Sitharaman announced Atmanicbhar Clean Plant Progranune with an outlay of
to boost availability of disease-free and quality planting material for high value horticultural crops.
Ans 1 Rs 2,200 crore
& 2. Rs 1000 crore
X 3. Rs 100 crore
X 4. Rs 500 crore
Question ID : 264330190907
Option 1 ID : 264330746982
Option 2 ID : 264330746985
Option 3 ID : 264330746983
Option 4 ID : 264330746984
Status : Answered
Chosen Option : 2
Q18 According to Constitution of India a governor can be appointed
Ans 1. for two or more states
X 2. only for a union territory
X 3. for not more than 2 states
X 4. for a single state at a time
Question ID : 264330191441
Option 11D : 264330749120
Option 2 ID : 264330749121
Option 3 ID : 264330749119
Option 4 ID : 264330749118
Status : Answered
Chosen Option : 1
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Ans X 1. eighth

Q.19 The first census of Independent India was conducted in 1951, which was the census i its coutimious series.

X 2. fifth
+ 3. seventh
X 4. sixth
Question ID : 264330188738
Option 1 ID : 264330738757
Option 2 ID : 264330738754
Option 3 ID : 264330738756
Option 4 ID : 264330738755
Status : Answered
Chosen Option : 3
Q.20 Which of the following has invented the musical instrument Bamhum and Tikzik?
Ans X 1. Takar Nabam
X 2. Lily Adoryllene
X 3. Lou Majaw
+ 4. Moa Subong
Question ID : 264330188762
Option 1 ID : 264330738852
Option 2 ID : 264330738853
Option 3 ID : 264330738851
Option 4 ID : 264330738850
Status : Answered
Chosen Option : 2
Section : Part-C-Elementary Mathematics
Q.1 Minto alone can make a table in 75 davs while Pinto alone can make it in 150 days. Pinto started the work and worked
for 30 days. In how many days Minto can finish the remaining work?
Ans X 1. 75 days
« 2. 60 days
X 3. 70 days
X 4. 85 days
Question ID : 264330187776
Option 1 ID : 264330735033
Option 2 ID : 264330735034
Option 3 ID : 264330735035
Option 4 ID : 264330735032
Status : Answered
Chosen Option : 2
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Q2 simplify: 18 - (3/2) x (4 + 1).

Ans X 1. 16.4
« 2. 10.5
X3 124
X4 115
Question ID : 264330190728
Option 1 ID : 264330746345
Option 2 ID : 264330746342
Option 3 ID : 264330746343
Option 4 ID : 264330746344
Status : Answered
Chosen Option : 2
Q3 Ifp:q=1:3andr:s=2p: 3q. then what is the value of pr : gs?
Ans X 1.27:2
X2 2:29
X3 2:25
4 2:27
Question ID : 264330187732
Option 1 ID : 264330734859
Option 2 ID : 264330734857
Option 3 ID : 264330734856
Option 4 ID : 264330734858
Status : Answered
Chosen Option : 4
Q.4 The componnd inferest {compeunding annually) on a principal amount of Rs. 12,000 for 2 years is Rs. 4,320 more than
the simple interest for the same period. Find the rate of interest per annum.
Ans X 1. §Ro%
« 2. 60%
X 3. 55%
X 4 T2%
Question ID : 264330191703
Option 1 ID : 264330750169
Option 2 ID : 264330750168
Option 3 ID : 264330750166
Option 4 ID : 264330750167
Status : Answered
Chosen Option : 2
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Q.5 A.B.and C can complete a piece of worl in 16 davs, 24 days. and 32 days respectively, How many days will all three

take together to complete the work?

Ans X 1. 17/3 days
X 2. 99/4 days
X 3. 35/8 days
« 4. 96/13 days

Question ID : 264330188432
Option 1 ID : 264330737596
Option 2 ID : 264330737598
Option 3 ID : 264330737597
Option 4 ID : 264330737599
Status : Answered
Chosen Option : 4
Q.6  The cost price of an article is T 630, After allowing a discount of 45%, a gain of 10% was made, Find the marked price
of the article.
Ans X 1. 2400
2.3 1300
X 3.Z 1500
X 4. Z 2000
Question ID : 264330191157
Option 1 ID : 264330747985
Option 2 ID : 264330747983
Option 3 ID : 264330747982
Option 4 ID : 264330747984
Status : Answered
Chosen Option : 2
Q7 Ifg:h:j=35:2:1, then what is the value of g : 2h : j?
Ans X' 1.3:5:2
#2.5:4:1
X3 5:4:2
X4.5:1:3
Question ID : 264330187511
Option 1 ID : 264330733974
Option 2 ID : 264330733972
Option 3 ID : 264330733973
Option 4 ID : 264330733975
Status : Answered
Chosen Option : 2
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Q.8 A person goes from Q to S at a speed of 45 km/hr. He comes back from S to Q at a certain speed. If his average speed is
36 kmv/he. then what was his speed while moving from S towards Q?

Chosen Option :

Ans X124 km/hr
X 2. 45 km/hr
X 3. 36 km/'hr
4 30 km/hr
Question ID : 264330187515
Option 1 ID : 264330733988
Option 2 ID : 264330733989
Option 3 ID : 264330733991
Option 4 ID : 264330733990
Status : Answered
Chosen Option : 4
Q9 what is the value of 1008 — 40 * 20+ 10 + 27
Ans ' 1. 940
X 2. 926
+ 3. 930
X 4. 036
Question ID : 264330187159
Option 1 ID : 264330732565
Option 2 ID : 264330732566
Option 3 ID : 264330732567
Option 4 ID : 264330732564
Status : Answered
Chosen Option : 3
Q.10 The price of an article is first decreased by 32% and then increased by 44%;. If the resulting price is 7 489.6. then find
the original price of the article.
Ans 1. F 500
X2 7750
X3 7450
X 4. Z 600
Question ID : 264330188421
Option 1 ID : 264330737553
Option 2 ID : 264330737555
Option 3 ID : 264330737552
Option 4 ID : 264330737554
Status : Answered

1
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A1 . .
Q If total surface area of a cube is 726 {:mz, then what is the volume of cube?
Ans
X 1. 1000 cm?
X2 1728 cm’
X 3. 720 cm?
<4 1331 cm®
Question ID : 264330187738
Option 1 ID : 264330734880
Option 2 ID : 264330734882
Option 3 ID : 264330734881
Option 4 ID : 264330734883
Status : Answered
Chosen Option : 4
Q.12 Inadance competition 40 percent of the smdents were boy and the remaining were girls. If the average age of boys is
18 years and that of girls was 15 years. Find the average age of the students who attended the competition.
Ans X 1. 14.8 years
« 2. 16.2 years
X 3. 13.5 years
X 4. 15 years
Question ID : 264330192473
Option 1 ID : 264330753248
Option 2 ID : 264330753249
Option 3 ID : 264330753246
Option 4 ID : 264330753247
Status : Answered
Chosen Option : 2
Q.13  What will be the ratio of the Teast Common Multiple and Highest Common Factor of 22, 11 and 442
Ans X 1. 6:1
X2 2:1
X3 8:1
o4 401
Question ID : 264330190350
Option 1 ID : 264330744984
Option 2 ID : 264330744982
Option 3 ID : 264330744985
Option 4 ID : 264330744983
Status : Answered
Chosen Option : 4
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Q.14  Alex invested S1500 in a savings bond with a simple interest rate of 6% per anmim. How much interest will he receive
after 4 years?

Ans X 18313
+ 2. 8360
X 3. 3326
X 4. $382
Question ID : 264330191201
Option 1 ID : 264330748158
Option 2 ID : 264330748160
Option 3 ID : 264330748161
Option 4 ID : 264330748159
Status : Answered
Chosen Option : 2
Q.15 Ifanarticle is sold ata 10% loss after a discount of 20%, what s the original marked price as a percentage of the cost
price?
Ans X 1. 110%
X 2 125.5%
# 3 118.5%
o 4 112.5%
Question ID : 264330188503
Option 1 ID : 264330737815
Option 2 ID : 264330737816
Option 3 ID : 264330737817
Option 4 ID : 264330737814
Status : Answered
Chosen Option : 4
Q.16 The average of b. c. d and e is 25. If the average of b and ¢ is 11. then what will be the average of d and €?
Ans « 1. 30
X2 36
X 3. 38
X 4 35
Question ID : 264330187643
Option 1 ID : 264330734503
Option 2 ID : 264330734502
Option 3 ID : 264330734501
Option 4 ID : 264330734500
Status : Answered
Chosen Option : 1
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Q.17 1fa person's salary is increased by 12%, what is the new salary if the original salary was Rs. 15,0007

Ans X 1. Rs. 16500
X 2. Rs. 16700
X 3. Rs. 16200
« 4. Rs. 16800
Question ID : 264330191173
Option 1 ID : 264330748049
Option 2 ID : 264330748046
Option 3 ID : 264330748048
Option 4 ID : 264330748047
Status : Answered
Chosen Option : 4
Q.18 If the loss incurred on selling an article is 38 percent, then what will be the ratio of ifs cost price and selling price?
Ans X' 1. 40:31
X2 31:50
X3 31:40
& 4 50:31
Question ID : 264330191135
Option 1 ID : 264330747894
Option 2 ID : 264330747896
Option 3 ID : 264330747897
Option 4 ID : 264330747895
Status : Answered
Chosen Option : 4
Q.19 Siraj earns a profit of 32% on selling price. Find the approximate profit percent on the cost price.
Ans X' 1 4994
X 2. 45%
3 47%
X4 51%
Question ID : 264330192477
Option 1 ID : 264330753264
Option 2 ID : 264330753262
Option 3 ID : 264330753263
Option 4 ID : 264330753265
Status : Answered
Chosen Option : 3
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Q20 yWhat js the value of 91 x 7+49 % 13 -42+7 % 57
Ans X 1. 1252
2 1244
X 3. 1248
X 4 1242
Question ID : 264330190347
Option 1 ID : 264330744973
Option 2 ID : 264330744971
Option 3 ID : 264330744972
Option 4 ID : 264330744970
Status : Answered
Chosen Option : 2
Section : Part-D-English
Q.1 Choose the idiom/phrase that can substitute the highlighted group of words meaningfully.
1 had a feeling that I was unable to speak due to sadness as I watched the casket of the fallen soldier retum home.
Ans X 1. Tongue And Cheek
X 2. In the dark
+ 3. Lump in the throat
X 4. Cut corners
Question ID : 264330186755
Option 1 ID : 264330731168
Option 2 ID : 264330731171
Option 3 ID : 264330731170
Option 4 ID : 264330731169
Status : Answered
Chosen Option : 3
Q.2 Inthe following question. out of the given four alternatives, select the alternative which best expresses the meaning of
the Idiom/Phrase.
To threw down the gauntlet
Ans X 1. To surrender
X 2. To plead for mercy
« 3. To challenge somebody to do something
X 4. To ignore without any reason
Question ID : 264330185808
Option 1 ID : 264330727561
Option 2 ID : 264330727562
Option 3 ID : 264330727560
Option 4 ID : 264330727563
Status : Answered
Chosen Option : 3
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correct.

They had to cultivate crops which the company asked them to do.

Ans 1. No improvement

X 2. cultivate cropping
X 3. had cultivating crops

X 4. had to cultivates crops

Q.3 Improve the underlined part of the sentence. Choose ‘No impravement” as an answer if the sentence is grammarically

Question ID : 264330185733
Option 11D : 264330727279
Option 2 ID : 264330727278
Option 3 ID : 264330727276
Option 4 ID : 264330727277
Status : Answered
Chosen Option : 1
Q.4  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
The main driver of today's global warming were the combustion of fossil fuels.
Ans X 1. The main driver of
« 2. today's global warming were the
X 3. combustion of fossil fuels
& 4. No error
Question ID : 264330185668
Option 1 ID : 264330727028
Option 2 ID : 264330727029
Option 3 ID : 264330727030
Option 4 ID : 264330727031
Status : Answered
Chosen Option : 2
Q5 gSelect the sentence with no spelling errors.
Ans X 1.
Just who 15 crazy encugh to go swiming when the pond across the street has a layer of ice across the top?
~ 2.
Just who i3 crazy enough to go swimming when the pond across the streat has a layer of ice across the top?
X 3.
Just who i3 crezy enough to go swimming when the pond across the street has a layer of ice across the top?
o 4
Just who i3 crazy enough to go swimming when the pond across the street has a layer of ice across the top?
Question ID : 264330185664
Option 1 ID : 264330727013
Option 2 ID : 264330727015
Option 3 ID : 264330727014
Option 4 ID : 264330727012
Status : Answered
Chosen Option : 4
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Ans

Some of the flowers in my garden is not blooming properly.
+ 1. is not blooming properly.

X 2. Some of the

X 3. No error

X 4. flowers in my garden

Q.6  Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.

Question ID : 264330185708
Option 1 ID : 264330727182
Option 2 ID : 264330727180
Option 3 ID : 264330727183
Option 4 ID : 264330727181
Status : Answered
Chosen Option : 1
Q7 Select the most appropriate option for the given blank.
I am allergic some medicines.
Ans X 1. with
2 to
X 3. on
X4 of
Question ID : 264330185896
Option 1 ID : 264330727898
Option 2 ID : 264330727897
Option 3 ID : 264330727896
Option 4 ID : 264330727899
Status : Answered
Chosen Option : 2
Q.8 Find the part of the given sentence that has an error in it. If there is no error, choose “No error’.
I don't mind trying to make your day as well as you make mine.
Ans X 1. Idon't mind trying
X 2. No error
« 3. as well as you make mine
X 4. to make your day
Question ID : 264330186361
Option 1 1D : 264330729668
Option 2 ID : 264330729671
Option 3 ID : 264330729670
Option 4 ID : 264330729669
Status : Answered
Chosen Option : 3
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Q.9  Fill in the blank with the most appropriate option.

He said he would split open a raw ILrish potato and stick the quarter in

Ans X 1. glice

and keep it there all night.

+ 2. between
X 3. gap
X 4. along
Question ID : 264330186911
Option 11D : 264330731767
Option 2 ID : 264330731765
Option 3 ID : 264330731766
Option 4 ID : 264330731764
Status : Answered
Chosen Option : 3
Q.10 From the options given below choose the synonym (similar meaning) of the word:
Decapitate
Ans X 1. Invigorate
X 2. Feeble
X 3. Affection
+ 4 Behead
Question ID : 264330186415
Option 1 ID : 264330729873
Option 2 ID : 264330729874
Option 3 ID : 264330729875
Option 4 ID : 264330729872
Status : Answered
Chosen Option : 3
QM Select the most appropriate option for the given blank.
the flying bricks and bottles, the riot police kept calm.
Ans X 1. about
X 2. beside
X 3. until
+ 4. amid
Question ID : 264330185608
Option 11D : 264330726802
Option 2 ID : 264330726801
Option 3 ID : 264330726800
Option 4 ID : 264330726803
Status : Answered
Chosen Option : 4
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Q.12 Select the incorrectly spelr word from the given sentence.

Leisure is esential to civilization, and in former times leisure for the few was only rendered possible by the labours of
the many.

Ans

X 1. possible

« 2. esential
& 3. rendered

X< 4. Leisure

Question ID : 264330185726
Option 1 ID : 264330727251
Option 2 ID : 264330727249
Option 3 ID : 264330727250
Option 4 ID : 264330727248
Status : Answered
Chosen Option : 2

Q.13 Choose the most appropeiate antonym of the underlined word,

We nrge regulators to adopt a pragmatic and proportionate approach until a sustainable long-term solution can be
reached.

Ans X 1. Practical
X 2. Sober
+ 3. Idealistic
X 4. Logical

Question ID : 264330186774
Option 11D : 264330731241
Option 2 ID : 264330731243
Option 3 ID : 264330731240
Option 4 ID : 264330731242
Status : Answered
Chosen Option : 2

Q14 Choose the word that is opposite in meaning to the given word.

Irritate

Ans X 1. MIiff
X 2. Pester
+ 3. Pacify
X 4. Annoy

Question ID : 264330186353
Option 1 ID : 264330729637
Option 2 ID : 264330729639
Option 3 ID : 264330729636
Option 4 ID : 264330729638
Status : Answered
Chosen Option : 3
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Q15 Select the most appropriate word to fill in the blank.

Others looked at the issue
Ans X 1. different

X 2. difference

3. differently

X 4. differential

Question ID : 264330186303
Option 11D : 264330729450
Option 2 ID : 264330729448
Option 3 ID : 264330729451
Option 4 ID : 264330729449
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number,

Forall that T knew this (1) well, T(2) felr as if it were not safe to let the coach-office be our of my
sight (3) than five minutes at a time; and in this (4) of unreason I had performed the first half-hour
of a(5) of four or five hours, when Wemmick ran against me.

SubQuestion No : 16

Q16 Select the most appropriate option to fill in the blank No. 1.
Ans X 1. closely

« 2. perfectly
X 3. doubtfully

X 4. loosely

Question ID : 264330186536
Option 1 ID : 264330730334
Option 2 ID : 264330730332
Option 3 ID : 264330730333
Option 4 ID : 264330730335
Status : Answered
Chosen Option : 2
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Comprehension:

the most appropriate option for each number,

SubQuestion No : 17

Ans X 1. can

& 2. sometime
« 3. still
X 4. some

Q17 Select the most appropriate option to fill in the blank No. 2.

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select

Forall that T knew this (1) well, T(2) felr as if it were not safe to let the coach-office be our of my
sight (3) than five minutes at a time; and in this (4) of unreason I had performed the first half-hour
of a(5) of four or five hours, when Wemmick ran against me.

Question ID : 264330186537
Option 1 ID : 264330730336
Option 2 ID : 264330730339
Option 3 ID : 264330730337
Option 4 ID : 264330730338
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for sach number,
Forall that T knew this (1) well, T(2) felr as if it were not safe to let the coach-office be our of my
sight (3) than five minutes at a time; and in this (4) of unreason I had performed the first half-hour
of a(5) of four or five hours, when Wemmick ran against me.
SubQuestion No : 18
Q18 Select the most appropriate option to fill in the blank No. 3.
Ans X 1. bigger
X 2. larger
X 3. shorter
« 4. longer
Question ID : 264330186538
Option 11D : 264330730340
Option 2 ID : 264330730341
Option 3 ID : 264330730343
Option 4 ID : 264330730342
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number,

Forall that T knew this (1) well, T(2) felr as if it were not safe to let the coach-office be our of my
sight (3) than five minutes at a time; and in this (4) of unreason I had performed the first half-hour
of a(5) of four or five hours, when Wemmick ran against me.

SubQuestion No : 19
Q19 Select the most appropriate option to fill in the blank No. 4.
Ans X 1. stance
X 2. status

X 3. glance

« 4. condition

Question ID : 264330186539
Option 1 ID : 264330730344
Option 2 ID : 264330730345
Option 3 ID : 264330730346
Option 4 ID : 264330730347
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number,
For all that T knew this (1) well, T(2) felr as if it were not safe to let the coach-oifice be out of my
sight (3) than five minutes at a time; and in this (4) of unreason I had performed the first half-hour
of a(5) of four or five hours, when Wemmick ran against me.
SubQuestion No : 20
Q20 Select the most appropriate option to fill in the blank No. 5.
Ans X 1. clocking
X 2. sight
X 3. vision
+ 4. watch
Question ID : 264330186540
Option 1 ID : 264330730349
Option 2 ID : 264330730350
Option 3 ID : 264330730351
Option 4 ID : 264330730348
Status : Answered
Chosen Option : 4

Section : Part-D-Hindi




www.prepp.in

ThHI AU P el =
Ans x 1. g:

v 2 Ugdld

X3

X 39

A R g 7 I SRR WeE BT 99 X Red W 31 g i)

Question ID

Option 11D :
Option 21D :
Option 31D :

Option 4 ID

1 264330189266
264330740804
264330740803
264330740805

1 264330740802
Status :
Chosen Option :

Not Answered

IR gl gedt A ogl 5|
Ans VTEIT@‘H

X 2 afiftrs

X 3. YT

x4 3]

O Pufafad aeg ¥ WEifed YR & Ry ue 91ds wee 31d S1f |

Chosen Option :

Question ID : 264330188941
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Chosen Option : --
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Question ID : 264330189015
Option 1 ID : 264330739847
Option 2 ID : 264330739846
Option 3 ID : 264330739849
Option 4 ID : 264330739848
Status : Not Answered
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Question ID :
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Option 4 ID :
Status :
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Not Answered
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Ans

Comprehension:
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Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

264330188355
264330737299
264330737296
264330737298
264330737297
Not Answered

Q.17

Ans

Comprehension:
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Option 21D :
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Status :

Chosen Option :

264330188356
264330737301
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Not Answered
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Q.18

Ans

Comprehension:
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Option 11D :
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Status :
Chosen Option :

264330188357
264330737307
264330737306
264330737305
264330737304
Not Answered

Q.19

Ans

Comprehension:
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Status :
Chosen Option :

Not Answered
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Comprehension:
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